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u(y,0)=0, 6(y,0)=0; y>0,

u(0,t) =0, u(oo,t)=0, 6(0,t) =1, H(o,t) =0,
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> IBC:={u(y,0)=0,u(0,2) =0,u(10,£) =0,z(y,0) =0,z(0,1) = 1,
z(10,¢) = 0};

IBC :={u(0,7) =0,u(10,7) =0,u(y,0)=0,z(0,¢) = 1,z(10,¢) =0,
z(y,0) =0}
> Pr=07LR =02
Pr:=0.71
R:=0.2

>
fori from 1 by 1 to 4 do Gr := L[i] : pds = pdsolve (PDE, IBC,

numeric, spacestep = ﬁ) pli] = plots[display]([seq (pds:-

plot( u,t= -'l%,y =0..6, legend = [i]),j :4j

>display ({p[1],p[2], p[3],p[4]});

) :end do
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Velocity Profiles for different values of Gr
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